360 L= 0 L= 0 L= 0 360
80 c= 0 c= 0 c= 0 80
(33 ) (152 ) (289 )
= 2,531 A= 1,335 A= 0 A= 0 = 1,19
(210 ) (73 ) (152 )
= 1,288 c= 708 c= 0 c= 0 580
54 c= 38 c= 0 c= 0 16
= 1,422 C= 746 c= 0 c= 0 676

52..5%(67 . 2%)

52..5%(72.4%)

52.5%(83. 1%)

100%
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co2

| |

[ coz ]
96.7 / 17384284 / -

1,738,331.8 /

n NO2

[ NO2 ]
o1 / 963 / - 962 /

[ ] SPM

[ SPM ]
001 / 903 / - 9.02 /

O

O

O

O

O

O

O 1km

] 6m

O

O

16




500 / 1,000 /12h
500 /

500 /

1,000 /12h
500 /12h 100 /
40 /
500 /

1.0
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o0 mOd

O 0o

16ha

(300
100 5ha

DID

25t

ISO

1.5km/km2

17,800 / 4.5
20km/h

10,000
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11

42

X X
802,981,760,000
803,090,540,000

803,090,540,000 802,981,760,000

X X
100,863,950,000
100,869,210,000

100,869,210,000 100,863,950,000

19,319,920,000
19,320,480,000
19,320,480,000 19,319,920,000

108,780 5,260 560 114,600
B

108,780,000

5,260,000

560,000

H
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